Day 03 Investigating End Behavior

1. f(x) = 3x° 40
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End Behavior:
As x> -0, f(x) > + oL

and as x > oo, f(x) > +OO ‘
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Graph each of the following functions on a graphics calculator and gquickly SKETCH the graph.
Then fill in the blanks to describe the behavior on the “ends” of each graph.
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2, y=250-16x?

End Behavior:
Asx > o0, f(x)> O
and as x> oo, f(x) > e
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3. y=-23-3x%2+2
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Behavior:
As x> -o0 , f{x) > + OO
andasx > oo, f(x) > "“(2
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Compare the four graphs and the behavior of each function at its “ends”.

behavior of a function without graphing it?
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4. y=x°+6x*+9x° — dx2 —12x
Zoom G
Behavior:

Asx > -oo, f(x)>__ 09
andas x> oo, f(x) > +{£
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Describe how you could predict the end

an
N the Ja(ir‘«é%ﬁm



. Jdster &

Lncreasing or Decreasing? -4t e

Unit 3,

raph each function using a graphing calculator and complete the following. Adjust the viewing window os

necessary. C% L.Y (;w W \{

L f{x) = 2x3+ 5x3~ 18x — 15

ldentify the coordinates of the extrema.

Local maximum: ("2 IU )ﬂ) 12)

Local minimum: H, 51 | ‘2(0' Uq)

In which intervals is the function increasing?

(-00,-27) , (1.4, )

In which intervals is the function decreasing?
(<276, i ¢ fl)

2. fix) =x*=2x3-13x* + 14x + 24

ldentify the c00rd|nates of the extrema.
Local maximum: \!z 1 27 S(V

Locaiminimum:L Z‘,lvi, ’.ZS)./ (,3 iq}

In which Interyals is fhe function increasing?
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In which intervals is the function decreasing? J ‘ Py
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(~%,-2.9) , (0.5, 3,19)

3. f(x) =-2x° = 5x* + 24x3 + 41% — 34x - 24
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Identify the coordmates of the extrema.

s moamane_L2L33, 2 96 ) (2.33,13%.24)
cetminman 3,33, 196, qu(o J;u( 294

In which intervals is the function mcreasmg?

(<333 -1.53) , (0,34,132)

In which intervals is the function decreasing?

(-5 333) (-133,03%) (233,2)
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